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http://www5.ocn.ne.jp/~report/index.html

http://www001.upp.so-net.ne.jp/seri-cf/reference.html

Extended Standard Map with Spatio-Temporal Asymmetry Taksu Cheon, Pavel
Exner, and Petr seba

Cold atoms in optical lattices: a Hamiltonian ratchet T.S. Monteiro, P.A. Dando,
N.A.C.Hutchings, and M. R. Isherwood

A chaotic 'turnstile’ for atoms in periodic potentials M. R. Isherwood and T. S.
Monteiro

http://www.mech.kochi-tech.ac.jp/cheon/13/ratchet-yitp.files/frame.htm
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#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#define PI M_PI

int main(void);

float DEp(float p,float x,float s,float k,float e,float A);
float DEx(float p,float x,float s,float k,float e,float A);
float amod(float x,float a);

float bmod(float x,float y);

int main(void){

int n,i,nl,at,bt;
float mp,mx,b,bb,s,e,Ak,p,x,t,p0,x0,p1,x1,p00,x00,p11,x11,heil,hei2;

FILE *fpl,*fp2,*fp3;

fpl = fopen("bunshimotertxt_p.txt","wb");
fp2 = fopen("bunshimotertxt_x.txt","wb");
fp3 = fopen("bunshimotertxt_t.txt","wb");

e=0;

A=0;

printf(" ¥n");
scanf("%f",&K);
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printf("p ¥n");
scanf("%f",&mp);
printf("x ¥n");

scanf("%f",&mx);

n = 5000;

if(mp == 0
mp = 1;
at=1,

}

if(mx == 0){
mx =1;
bt =1;

for(n = 0; n1 < 20; n1++){
k +=0.3;
heil=0;
hei2=0;

for(b = 1; mp >= b; b++){

p00 = bmod(mp,b);

for(bb = 1; mx >= bb; bb++){
X00 = bmod(mx,bb);

pO = p0o;
X0 = x00;

for(i=0;i<n;i++){

s = -pow(-1,i);
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/*

/*

I

heil += p0;
hei2 += x0;

pll = pO;

x11 = x0;

pll = amod(p1l,Pl);
x11 = amod(x11,PI);

if(i < (kuri/2)){

if(s == 1){
fprintf(fpl,"%f %f¥n" x11,pll);
}

* else{

I fprintf(fp2,"%f %f¥n" x11,pll);
bl

}
if(i > (kuri/2)){
if(s == 1){
fprintf(fp3,"%f %f¥n",x11,p11);
}
I* elsef{
I fprintf(fp2,"%f %f¥n",x11,p11);
}*
}

pl = DEp(p1l1,x11,s,k,e,A);
x1 = DEx(p1,x11,s,k,e,A);
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pO = pl;

X0 = x1;
}
/! heil = heil/kuri;
/! hei2 = hei2/kuri;

I* fprintf(fpl,"%f ", heil);
fprintf(fp2,"%f ", hei2);
fprintf(fpl,"%f¥n", k);
fprintf(fp2,"%f¥n", k); */

heil = heil/(n*mp*mx);

hei2 = hei2/(n*mp*mx);

fprintf(fpl,"%f ", heil);
fprintf(fp2,"%f ", hei2);
fprintf(fpl,"%f¥n", k);
fprintf(fp2,"%f¥n", k);

}

scanf("%d",&x0);
fclose(fpl);
fclose(fp2);
fclose(fp3);

return(0);
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float DEp(float p,float x,float s,float k,float e,float A){

float X;
X =p - k*sin(x) - A*s;
return(X);

float DEx(float p,float x,float s,float k,float e,float A){

float Y;
Y =X + p*(1+e*s);
return(Y);

float amod(float x,float a){

while(x > a){
X = X-2*a;

}

while(x < -a){
X = X+2*a;

}

return(x);

float bmod(float x,float y){

X = *PIH(y-D)(2*PII(x-1);
return(x);
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